& T8} o] 729 o)zt 2xem , A2 Bol7t 3yem A A4
@ ABCD 19| F0|2 ol 4AZH4 ABFE 9 4121 EGHD
3 e Folo] ol x, y o] Aoz whA by

ﬂ,
i)
=
2,
e
£

o Y S

Flo
BN

_-2rcm=

A - E ~ D

/

1

3ycrlja Gl H

\

B F C
@© 4x% + 18xy + 18y? @ 4x? — 18xy + 18y?
@ 4x? — 18xy — 18y? @ —4x% - 18xy + 18y?

@—4x2 + 18xy — 18y?

B )
ED ¢] Zolx 2x - 3y o]tk oEGHD 7} AAIZtgo| B2 EG
o] ZoJ& 2x — 3y o]t} WEhA] GF 9] ol 3y — (2x - 3y) =
—2x + 6y °|t}.

aHBE MAF FEO] Yol (2x - 3y)(-2x + 6y) = —4x° +
18xy — 18y? o] Ht}.




2. ohe AAZEOIA ARG HEO| oIS o, bE AHEY MO et
o7

hs

/b\

L

D a?® + 2ab + b? (@)cﬂ—%b-l—b2 ® a?-b?
@ a2+ b?

® 2ab

O] Yol)= (a-b)? = a® — 2ab + b*




A=V3++V2 B=V3-12
A])
A2 -B2? = (A +B)(A-B)

(V3+ V24 V3- v2)(V3+ V2- V3+ V2)
(2V3)(2V2) = 4V6

=
e

—




4.

(2x = 3y)? — dx + 6y + 1 & AR 5tof .

(F4) = (20-3y)" -2(2x-3y) +1
2x — 3y = A 2 2|25t
A2-2A+1=(A-1)

= (2x-3y-1)?




ZFAS ool Histo] yu O] A% BES f(n) ol & W, £(175) -
2f(28) = aV7+b °Jtk. o] W, ab O] & FoHH?

-5 @-s ® -1 @ 1 ® 3

B

i)13< V175 =5V7 < 14
s f(175) =547 - 13
i)5<V28=2V7<6

5 f(28) =247 -5

S f(175) = 2£(28) = 5V7 =13 -4+7+ 10
=\7-3

Vi-3=aV7+bo|B2

a=1,b=-3

. ab: 1)((—3) = —3




=

(o]

=

KO

olm g

0.---

2.
4. .-

2+ V6

o a
=2ei= [a] +a

[ V6]

olct,

=

(o]

=

ol
il
ol
<}
<

ol
g
al g
<}

,_.._Alo




